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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

She's not very ------- -— in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the ----—--—- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial -------- -- on the company are preventing them from employing new staff.

1) resolutions 2) deductions 3) approaches 4) constraints

The pattern ------aem- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be ---------- next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in-----=-=-- , but you'll need some practical work experience
before you can apply for the job.

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n) ---------- improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had —--—-- -- herself.

1) knitted 2) knitted 1t 3) been knitted 4) been knitted it

The teacher suggested that Ali ——---mm- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to —-—-——-,

1) refuse 2) refusing 3) refused 4) be refused

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
| blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) ---------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million people (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3) in 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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IT portfolio management is the application of systematic management to large classes of items
managed by enterprise information technology (IT) capabilities. IT portfolios do not always focus
on items that can be financially measured. Examples would be planned initiatives, projects, and
ongoing IT services (e.g., application support). The promise of IT portfolio management is the
quantification of previously mysterious IT efforts, enabling measurement and objective evaluation
of investment scenarios. IT portfolio management started with a project-centric bias, but 1s evolving
to include steady-state portfolio entries such as application maintenance and support, which
consume the bulk of IT spending. The challenge for including application maintenance and support
in portfolios is that IT budgets tend not to track these efforts at a sufficient level of granularity for
effective financial tracking.

The concept is analogous to financial portfolio management, but there are significant differences
between the two. IT investments are not liquid like stocks and bonds, and require both financial and
non-financial measures (e.g., a balanced scorecard approach) to evaluate; a purely financial view is
not sufficient. Financial portfolio assets typically have consistent measurement information
(enabling accurate and objective comparisons), and this is at the base of the concept’s usefulness in
application to IT. However, achieving such universality of measurement is going to take
considerable effort in the IT industry.

At its most mature, IT portfolio management seeks to account for and direct the entire IT spend,
including both innovative new capabilities (which are assessed on criteria such as potential ROI) as
well as established systems (which may be assessed as to their contribution to corporate
profitability, and also on non-financial criteria such as stability, usability, and technical
obsolescence). It is distinct from IT financial management in that it has an fpljlitly directive,
strategic goal in determining what to continue investing in versus what to divest. IT portfolio
management as a systematic discipline is more applicable to the larger IT organizations; in smaller
organizations, its concerns might be generalized into IT planning and governance as a whole.

IT portfolio management ............e.

1) may use ROI to evaluate things 2) includes two systematic disciplines

3) is concerned only with direct IT spending 4) favors objectivity in its evaluation goals

The word “divest” in line 23 means ...............

1) manage 2) pick out 3) take away 4) manufacture

Unlike IT portfolio management, financial portfolio management .............. :

1) is based on analogy 2) is a universal concept

3) relies on liquid for investment 4) considers a purely financial view insufficient
In the last two paragraphs, the author ..............

1) describes the stages of investment

2) compares two types of management

3) introduce a new conception of IT management

4) explains the two disadvantages of portfolio management
At its early stage of development, IT portfolio management .........couues
1) was referred to as enterprise IT

2) did not measure items financially

1) was not concerned with any classes of items

4) did not take account of application maintenance

The phrase “the two” in line 12 refers to .............. .

1) application maintenance and support

2) different types of IT management

3) financial and IT portfolio assessments

4) the two concepts of financial portfolio management
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According to the passage, it is true that ..............

1) IT portfolio management efforts used to be non- quantlﬁed

2) IT planning is a general type of governance

3) IT portfolio management is the most explicit type of management

4) universality of measurement cannot be achieved in portfolio assessment

The discipline of information technology governance derives from corporate governance and
deals primarily with the connection between business focus and IT management of an organization.
It highlights the importance of IT-related matters in contemporary organizations and states that
strategic IT decisions should be owned by the corporate board, rather than by the chief information
officer or other IT managers. The primary goals for information technology governance are to
assure that the investments in IT generate business value and to mitigate the risks that are associated
with IT. This can be done by implementing an organizational structure with well defined roles for
the responsibility of information, business processes, applications, infrastructure, etc. Decision
rights are a key concern of IT governance, being the primary topic of the book by that name by
Weill and Ross. According to Weill and Ross, depending on the size, business scope, and IT
maturity of an organization, either centralized, decentralized, or federated models of responsibility
for dealing with strategic IT matters are suggested. In this view, the well defined control of IT is the
key to success. After the widely reported collapse of Enron in 2000, and the alleged problems
within Arthur Andersen and WorldCom, the duties and responsibilities of the boards of directors for
public and privately held corporations were questioned. As a response to this, and to attempt to
prevent similar problems from happening again, the US Sarbanes-Oxley Act was written to stress
the importance of business control and auditing. Sarbanes-Oxley and Basel-II in Europe have been
catalysts for the development of the discipline of information technology governance since the early
2000s. However, the concerns of Sarbanes Oxley (in particular, Section 404) have less to do with IT
decision rights as discussed by Weill and Ross, and more to do with operational control processes
such as change management. -

Nicholas Carr has emerged as a prominent critic of the idea that information technology confers
strategic advantage. This line of criticism might imply that significant attention to IT governance is
not a worthwhile pursuit for senior corporate leadership. However, Carr also indicates
counterbalancing concern for effective IT risk management. The manifestation of IT governance
objectives through detailed process controls (e.g., in the context of project management) is a
frequently controversial matter in large scale IT management. The difficulties in achieving a
balance between financial transparency and cost-effective data capture in IT financial management

(i.e., to enable chargeback) is a continual topic of discussion in the professional literature, and can
be seen as a practical limitation to IT governance.

The second paragraph mainly discusses ........oeuue s

1) problems whit IT governance 2) the strategic function of IT
3) the cmergence of Carr as a critic 4) the advantages and disadvantages of IT
Information technology governance ......coieesvuee

1) encourages managers to take risks

2) has made right decisions about key topics

3) focuses on business rather than management

4) de-emphasizes the role of IT managers in decision making

The word “pursuit” in line 24 is closest in meaning to ...............

1) topic 2) search 3) option 4) benefit
All of the following contributed to the writing of the US Sarbanes-Oxley Act EXCEPT.........
1) doubts concerning the duties of directors for corporations

2) the responsibilities of private vs. public sectors

3) the collapse of Enron in 2000

4) problems within WorldCom
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According to the passage, an organizational structure .............. :
1) is mainly responsible for information

2) is best defined in terms of its roles in business

3) should be implemented to define primary goals

4) can help achieve the two objectives of IT governance

By “It” in line 3, the author means .........c.... .
1) organization 2) IT governance 3) management 4) corporate governance
According to the passages, Weill and Ross .............. .

1) approached IL-related duties from three perspectives

2) were particularly responsible for Section 404

3) wrote a book on making decisions

4) introduced a number of key IT matters

According to the passage, it is NOT true that ...............

1) the use of IT is risky

2) Sarbanes Oxley fries to manage changes

3) critics say that IT can only confer strategic advantage

4) the centralized mode of responsibility is affected by the size of an organization
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